FURTHER LOGARITHMS KCSE QUESTIONS WITH ANSWERS
MODEL27042023

Find the value of x in the equation
log,, 5—2+1log,,(2x+10) =log,, (x —4) |(3mal'ks)

2 Solve the equation below. (3 marks)
72X -8 x7¥+7 =0

3 Use logarithms correct to 4 decimal places to evaluate. (3mks)

J0.3698 Sin 56
2.548

Solve the equation; 2 log X — log (x -2) =2 log 3
Evaluate without using mathematical tables, the expression

2 logm 5-1Y% lOgl(} 16 +2 logm 40
6 Simplify
22
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MARKING SCHEME

7. Find the value of x in the equation
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|03 5~ l\oj. +|°ﬂ (1x410) = ltj (x-4)

(3marks)
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7 —87x+7=0
Let -J'x:y
v —8y+7=0
y=Ty-y+7=0
Yy =7)-1y-T7)=0 .
(y=1(y=7)=0
yv=lor y=17
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No Std Form

Log

0.3698 3.698x 107"
Sin 56

2.348 2.548 x 10°

15680 -
19918

15589 _
0.4062

0.3774 antilog

_ 2+1.1536
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7" —-87x+7=0

Let 7" =y
¥ -8y+7=0
i —=Ty—y+7=0
yo-=7)-1y-7)=0
-Dy-7)=0
v=lor y=7
T =lor7°=T

x=0x=1

M1

M1

Al

M1

M1

Al

Log (x{;zi)z kg3

X -9x+18=0
(x-6)x-3)=0

x=6orx=3
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5. 2log ,5-1logy 16 + 2log,, 40.

v .
Log (2.5.x40 ; 40) = log 10000 /
4
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